e The final exam covers only second semester.
e Thereis now a Review Sheet online

Purpose: Calculation practice with pH and
pOH

Warmup, copy and solve:

“For a 0.400 liter liquid that contains 0.000045
moles of H+ find the concentration of H+”
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Then find the pH by this:
pH = - log [H+]
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#1  What are the three possible amounts of
[OH-] and [H+]?
Memorized formula: ;
X0 = PR [HY]
When pH is 7, [OH-] = [H+] = .0b4000D |Mm
When the water is acidic, [OH-]1< [H+]
When the water is basic, [OH- ]> [H+]

#2 A handy shortcut for pH and pOH.

pH + pOH = 14




#3 If you know only the one with the star,
you can find the other three

pOH [H+] [OH-]

pH
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Metal with Acid

Remembering that Acid + Metal - hydrogen gas + salt, fill in the missing substances for each reaction

below

1.HBr + Na - H} + N”E(

2.HNO; + Mg > Bz 4 Mg(Nog)y
3.HsPO, + Ca > My + Ca(l,fa,

4. We have three memorized

math equations which we are using in this chapter. :

Write the equation you have
memorized that describes what
number you get when you
multiply the molarity of H+ by
the molarity of OH-

ig ™= (W o |

Write the equation you have
memorized that describes how
H+ molarity is related to pH

PH 3 -'oj ﬁ’lj

Write the equation that you have
been using since March to relate
moles of solute, volume of
solution, and molarity of a

solution.
Woles
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5. If a solution contains 0.445 moles of HNO; dissolved to make 2.3 liters of solution, what is the

molarity?
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6. Ifa solution of HF has a concentration of 2.3 x 10° M, and a volume of 444 mL, how many moles of HF
does it have?
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1.02+10°C = moles

NH, <+ OH S HOH - NH; -
SKIP #7, #10, AND #13




8. Show what reaction occurs when calcium reacts with HF. Use your periodic table to help you with

the charges of the product so that the compound comes out with zerg ¢ :
x Ca
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9. Write the reaction equation for the reaction of magnesium and hydrogen chloride.

Mﬂ ¥ ‘JCQ = HZ + MﬂC’(?_

11. Find the [H+] of a solution at 25 degrees with a pH of
S s ] (A
P E —3.4a4 = | oy [H]
anti loj(’g ‘quD = [H z

3 206x107 = [t]

b. 1.265 1,265 = '{15 Eﬂ
(.65 = 1 [H*]
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12. If a solution contains 1.745 moles of HNO, dissolved to make 2.3 liters of solution, what is the
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SKIP #7, #10, AND #13
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